Math 300 Pin: 000
Exercise 14 Girardi, Prof.

Exercise. A variant of Exercise 2.2.9e.

Use previously proven logical equivalencies (e.g., 1-12 from the §2.2 Handout) to prove the following

logical equivalency. Clearly justify (e.g., say which logical equivalency your are using) your steps.
[((P = Q) = R]=[(~P = R)AN(Q = R)] (1)

Put you solution under the horizontal line.

Cut this one red sentence out and then put your answer here.
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https://people.math.sc.edu/girardi/m300/handouts/ts2-2EquivStatements.pdf

